VIRGINIA HIGH SCHOOL LEAGUE

2008-09 VARSITY SCHOLASTIC BOWL 

MATCH 15

First period: 15 tossups, 10 points each

1.
 Bordered on the north by Nepal and on the east by Bangladesh, its states include Karnataka, Sikkim, Manipur, Uttar Pradesh, Goa and West Bengal [beng-gaul]. Name this Asian nation whose capital city is New Delhi [del-ee].  


ANSWER: India
2.
Its founder Kristen Hall left after its first album, allowing its two remaining members to win a Country Music Association award in 2007 as Duo of the Year. Name this country-music pair whose 2008 album Love on the Inside features guitarist Kristian Bush and lead singer Jennifer Nettles. 


ANSWER: Sugarland
3. 
THIS IS A 10-SECOND COMPUTATION QUESTION. What is the expected value of a single roll of a fair 6-sided number cube?  


ANSWER: 3.5 or 3 ½ or 7/2 [(1 + 2 + 3 + 4 + 5 + 6)/6)

4.
 It makes up about half the non-water body weight of the average person. A 180-pound man needs about 65 grams of it each day in his diet, which he can get by eating cheese, eggs, beans and especially meat. Name this substance, made of amino acids, that can be found in muscles, skin, hair and fingernails.


ANSWER: protein
5.
When drawn correctly, it helps students associate keys with key signatures, as its top has no flats or sharps and its bottom has 6 of each. Name this musical diagram, commonly drawn with C at the top, G-flat at the bottom, and everything else on one side or the other in between.


ANSWER: circle of fifths
6.
 After he became a British citizen and retired from his career as a sailor, he gave up his real last name Korzeniowski [kor-za-now-skee] and began to write--though it was nearly 20 years from his first novel Almayer's Folly to his first popular novel Chance, written in 1913. Identify this author whose works read in high-school English classes now include The Secret Sharer, Lord Jim and Heart of Darkness.  


ANSWER: Joseph Conrad 

7.
 THIS IS A 10-SECOND COMPUTATION QUESTION. If g = 10, how high is a tennis ball off the ground if it is dropped from that height and hits the ground 2 seconds later?  


ANSWER: 20 meters [vi t + ½ at2, but initial velocity is 0 and a = g because ball is falling, so ½ x 10 x 2 x 2]
8.
 He spent two extended periods in Italy, the second of which came with a command to bring home enough statues to begin an academy of art in Madrid under the direction of his patron King Philip IV. Name this 17th-century Spanish artist whose most famous work today is probably Las Meninas [ma-NEE-nuss].


ANSWER: Diego Velasquez
9.
 It flows through Petersburg until it joins the James River at Hopewell. Identify this river that runs east and west through south-central Virginia and shares its name with the last campaign of battles that ended the Civil War.


ANSWER: Appomattox River

10. 
During World War II, he built a prototype instrument later known as "The Log". A decade later, the Gibson Guitar Corporation built a guitar to his specifications and he agreed to have it named for him. Name this legendary musician, scheduled to be honored in late 2008 as an American Music Master for his position as "father of the electric guitar".


ANSWER: Les Paul
11.
 Until the last decade of his life, this UVA graduate was a lowly member of the U.S. Army Medical Corps. His fame came after he began teaching at the Army Medical School and then, in 1899, took a trip to Cuba to study disease. Identify this physician who now has the Army Medical Center named after him because of his success saving thousands from yellow fever.


ANSWER: Walter Reed
12.
Pencils and paper ready! Write down this computer command: "number", a space, then two "less than" signs, another space, and then the digit 3.  Now, in Visual Basic, if the value "number" is set to the 8-bit value 0000 1001 (or 9), what is the result from the command you wrote? 


ANSWER: 36 (9 x 4, or 32 + 4)

13.
Its year-long siege was the subject of an early Leo Tolstoy work and led to the deaths of nearly 35,000 Russians after the British and French finally took it at the end of August 1855.
 Name this city that was home to the Russian fleet on the Black Sea and whose loss was the final straw at the end of the Crimean War.


ANSWER: Sevastopol [sa-VASS-ta-poll]

14.
 As the longtime director of his own International Center for Genetic Epistemology, he studied how knowledge grows in people. Name this 20th-century Swiss psychiatrist whose four stages of cognitive development include sensory motor, pre-operational, concrete operational and formal operational. 


ANSWER: Jean Piaget [pee-a-zhay]

15.
 A very large one is used by the giant squid to move quickly in the water. The longest ones in the human body are found in the sciatic [sigh-AT-ick] nerve that propel an impulse up and down your leg. Name this part of a nerve cell that contains the nodes of Ranvier and removes information from a nerve cell's body.


ANSWER: axons

Second period, 10 directed questions per team, 10 points each

Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
 Name the scale that measures earthquakes on a logarithmic system and reports their magnitude to one decimal place.  


ANSWER: Richter scale 

1B.
 In Shakespeare's A Midsummer Night's Dream, what character is married to Titania?  


ANSWER: Oberon
2A.
 Name the Confederate general who took his army to the west side of Washington, D.C. in 1864 and made Abraham Lincoln the only sitting U.S. President ever to come under enemy fire. 


ANSWER: Jubal Early
2B.
 In 2008, its state of emergency that has existed since 1981 was extended for 2 more years. Name this country that has been in that state since the assassination of its President Anwar Sadat [sa-DOT] through the entire term of its current President, Hosni Mubarak [moo-BAR-uck].  


ANSWER: Egypt
3A.
 THIS IS A 20-SECOND COMPUTATION QUESTION. Give the two x-intercept points for the equation y = 6x2 + x - 3.

 

ANSWER: (1/2, 0) and (-2/3, 0) (factor the quadratic equation)

3B.
 In the "water cycle", give the term for water that is released from clouds as rain or snow.  


ANSWER: precipitation
4A.
 What English word that comes to us from a Turkic language means "fermented milk, often with fruit added" ?  


ANSWER: yogurt
4B.
 He left England in 1577 with six ships and returned three years later with only two ships. 

Name this British sailor who circumnavigated the globe.   


ANSWER: Sir Francis Drake
5A.
 He died in 2008, nearly 20 years after regaining the Russian citizenship that was taken from him in 1974.
 Name this Nobel laureate author of a 3-volume work about the Stalin labor camps called The Gulag Archipelago.  

ANSWER: Alexander Solzhenitsyn [sole-zha-neet-sun]

5B. 
THIS IS A 20-SECOND COMPUTATION QUESTION. Give the result when the quantity (a - b) is divided into the quantity (a cubed minus b cubed).  


ANSWER: a squared plus ab plus b squared (a2 + ab + b2)

6A.
 Give the common 2-word phrase that describes unrhymed iambic pentameter, like that used by Shakespeare in his plays.  


ANSWER: blank verse
6B.
 In Joseph Conrad's Heart of Darkness, name the trader who set himself up as a demigod in the African jungle.  


ANSWER: Mr. Kurtz
7A.
 THIS IS A 30-SECOND COMPUTATION QUESTION. If x is between 0 and 2π radians, give the two values of x (in radians) for which "tangent x" is undefined.  


ANSWER: π/2 and 3π/2

7B.
 Name the item of chemistry lab equipment that can be simulated by a straw-- if you get liquid into the straw and then put your finger over the top to keep the liquid from spilling out.  

ANSWER: pipette
8A.
 What flammable gas is removed from coal before the coal goes to a power plant to be burned?.  


ANSWER: methane or CH4
8B.
 In 1962, Soviet spy Rudolf Hess was sent back to the Soviet Union in exchange for-- what American U-2 pilot who’d been shot down by the Russians two years before? 


ANSWER: Francis Gary Powers
9B.
 In the Chicago (or Turabian) [ta-RAY-bee-un] style of listing bibliographic references, what should you put in parentheses when referencing a journal article but not when referencing a newspaper article?  


ANSWER: the year it was published 

10A.
 The 2008 war crimes trials by the U.S. military are the first such trials since the post-World War II war crimes trials in--what German city?   

ANSWER: Nuremberg
10B.
 THIS IS A 30-SECOND COMPUTATION QUESTION. In lowest terms, give the value of the expression (cosine-squared 225° minus sine-squared 270°).  


ANSWER: -1/2 or -0.5 (1/2 - 1) 

Third period, 15 toss-ups, 10 points each

1.
 Described as two-thirds god and one-third human, he is said to have ordered walls to be built around the ancient city of Uruk during his reign that began in about 2600 BC. Identify this semi-legendary figure and title character of an ancient Sumerian epic.   


ANSWER: Gilgamesh
2.
One of its nearby peaks is named for Hulda Crooks, who climbed it nearly every year from age 65 to age 91.
 The annual Badwater Ultramarathon begins in Death Valley and ends 135 miles later at its summit, climbing some 13,000 feet in the process. Identify this peak, named for a former state geologist of California, that is the highest in the "Lower 48" states.   


ANSWER: Mount Whitney


3. 
Sociologists use it to describe the origins of "nationalism". One ancient example of it is China referring to itself as the "middle kingdom", or the center of the world. Identify this concept that says "your own culture is, by definition, the best and most correct culture in the world--and all others are a little weird". 


ANSWER: ethnocentrism (accept forms of the word)

4.
 Its cast of recurring characters, which has included Lady Heather and the Miniature Killer, will be augmented in this current season when several of its main characters begin to appear only occasionally. Name this popular TV series that will see the departures of Warrick Brown and Dr. Gil Grissom.  


ANSWER: CSI (or Crime Scene Investigation) (ensure that the New York and Miami spinoffs aren't meant)

5.
 In childbirth, it is the final stage of labor before a baby is pushed out. In genetics, it is a mutation between an A and a G or a C and a T. It can describe an economy changing to a free-market system, or the elements across the middle of the periodic table. Give this 10-letter word, used with the word "in", to describe a period of time in basketball where the offense attacks a defense that is not totally set up.  


ANSWER: transition
6.
 As the Commissioner of Public Safety for Birmingham. Alabama, he became notorious for setting attack dogs on (and turning firehoses on) 1960's civil rights demonstrators.  Name this public official who sued the New York Times in 1960 for their claim that he fanned the flames of racial hatred.  


ANSWER: T. Eugene "Bull" Connor
7.
 THIS IS A 10-SECOND COMPUTATION QUESTION. Give the ordered pair where the line y = 2x - 1 crosses the x-axis.  


ANSWER: (1/2, 0)  (accept 0.5 for ½)

8.
 He calls himself "the disciple whom Jesus loved”, something he might have had trouble remembering while on the isle of Patmos. Identify this New Testament apostle who wrote the book of Revelation and a namesake gospel that begins, “In the beginning was the Word, and the Word was God.”   


ANSWER: John (the Revelator)

9.
 Schumann wrote one in B-flat, and it is the title of a Joan Crawford movie where she plays a wealthy woman who falls in love with a young violinist who cares more for his music than he does for her. Give this term that is also the title of a set of 8 such romantic and funny pieces by Antonin Dvorak [vor-ZHOCK].


ANSWER: Humoresque
10. 
She received $100,000 from her country's embattled President when she arrived home in 2008 after winning four medals at the Beijing Olympics, including gold in the 200-meter backstroke. Identify this native of Zimbabwe who shares her last name with the town in England made famous by the medieval Lady Godiva.


ANSWER: Kirsty Coventry 

11.
 Two years before his death in 1558, he abdicated the throne and divided his empire between his son and his brother.  Name this man generally considered the first king of Spain, giving either his title as Spanish King or his title as Holy Roman Emperor.


ANSWER: Charles I (or Charles V, his title as Holy Roman Emperor)

12.
It typically contains a telescope, a frame, a magnifying glass and 2 mirrors to help navigate on the high seas. When using it on the high seas, you can be said to be "taking a sight". Name this device with a 60° scale that maps out 1/6 of a circle, often used to measure the altitude of the sun above the horizon and find a ship's latitude on the ocean.   

ANSWER: sextant
13. 
In 1600, he was the most famous painter in Rome, not just for his talent and almost-too-realistic work, but because of his carousing and his actually having killed a man. Name this Italian whose wild life caused his death in 1610, but not before his influence had spread even beyond his works The Inspiration of Saint Matthew and David With the Head of Goliath.


ANSWER: Michelangelo Merisi da Caravaggio (accept Merisi)

14.
 It is separated from Corsica on its north by the Straits of Bonifacio and from the Italian coast on its east by the Tyrrhenian [tie-REE-nee-un] Sea. Identify this second-largest island in the Mediterranean Sea (after Sicily) whose capital city shares its name with its southeast province of Cagliari.  


ANSWER: Sardinia
15.
 It can be caused by stimuli such as gravity, water, temperature or touch, though it is most commonly noticed in a plant when caused by light. Name this biological phenomenon that causes a plant to grow toward a stimulus (such as light), even though the stimulus may cause the plant to grow horizontally instead of vertically.  


ANSWER: tropism [TRO-pizz-um]

Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
 Give the 8-letter word that means "two algebraic terms with a plus or minus sign between them", such as 5x - 4.
    

ANSWER: binomial
2.
What planet's satellites include Hegemone [hedge-EM-a-nee], Leda [LEE-da], Pasiphae [PASS-a-fay] and Callisto [ka-LIST-o] ?  


ANSWER: Jupiter
3. 
To conjugate verbs in Spanish, replace the last two letters of the infinitive with the ending that corresponds to the pronoun you're using. What ending would be added to the verb "vivir" [vee-veer], "to live", to create the "they" form of the present indicative?   


ANSWER: E-N
 

4.
 Which American Revolutionary War general, nicknamed the "Swamp Fox", headed the Carolina militias at the end of the War? 


ANSWER: Francis Marion
5.
 Two people who date for a while may break up if they decide they're incompatible with each other. Spell the word "incompatible".  


ANSWER: I-N-C-O-M-P-A-T-I-B-L-E


END OF MATCH 8
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